General Info

Number: 690026-100020, C-2292, TSS 940

Description: Rinehart Public Utilities Complex Wat

Deadline: 2020-06-17 19:00:00 UTC

Bids					
Business	Bid Total	Submitted at			
The Righter Co., Inc.	\$341,239.50	2020-06-17 1			
John Eramo & Sons, Inc	\$452,760.75	2020-06-17 14			

er Service Improvements and 910 Dublin Rd. Curb Repair

Signed by	Opened at
Michael Killilea II	2020-06-17 19:03:15 UTC
Christopher Eramo	2020-06-17 19:02:45 UTC

ORD #1508-2020, Division of Water Rinehart Public Utilities Complex Water Service Improvements & 910 Dublin Rd. Curb Repair 690026-100020, C-2292, TSS 940

Bid Tabulation, Opened 6/17/20

(local)

					Engineer's	s Estimate	The Righte	r Co., Inc.
Item								
#	Ref. #	Description	Qty.	Units	Unit Price	Extension	Unit Price	Extension
		C-2292 Water Service Imp's						
1	SPEC	Demolition	1	LS	\$13,000.00	\$13,000.00	\$15,000.00	\$15,000.00
2		Fabricated Structure and Appurtenances	1	LS	\$145,000.00	\$145,000.00	\$168,000.00	\$168,000.00
3	SPEC	Sitework	1	LS	\$50,000.00	\$50,000.00	\$25,000.00	\$25,000.00
4	207	Temporary Sediment & Erosion Control	1	LS	\$3,000.00	\$3,000.00	\$500.00	\$500.00
5	623	Construction Layout Staking	1	LS	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00
6	SPEC	Allowance - Electric Service Fees	1	LS	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00
		Subtotal				\$243,000.00		\$240,000.00
		Contingency (15%)				\$36,450.00		\$36,000.00
		C-2292 TOTAL:				\$279,450.00		\$276,000.00
		TSS 940 Curb Sep./Repair						
7	254	Pavement Planing, Asphalt Concrete	83	SY	\$5.00	\$415.00	\$50.00	\$4,150.00
8	407	Tack Coat	12	GAL	\$5.00	\$60.00	\$10.00	\$120.00
		Asphalt Concrete Surface Course, Type 1,						
9	441	(448), PG64-22	10	CY	\$195.00	\$1,950.00	\$600.00	\$6,000.00
10		6" Conduit, Type F	30	FT	\$3.00	\$90.00	\$50.00	\$1,500.00
11	604	Inlet Adjusted to Grade	1	EA	\$750.00	\$750.00	\$500.00	\$500.00
12	605	4 Inch Pipe Underdrain	121	FT	\$10.00	\$1,210.00	\$30.00	\$3,630.00
13	608	Concrete Walk 4"	329	SF	\$15.00	\$4,935.00	\$10.00	\$3,290.00
14	614	Maintenance of Traffic	1	LS	\$1,000.00	\$1,000.00	\$3,500.00	
15		Seeding and Mulching	45	SY	\$9.00	\$405.00	\$20.00	\$900.00
16	SPEC	Permanent Pavement	3	CY	\$275.00	\$825.00	\$600.00	\$1,800.00
17		French Drain Complete	146	FT	\$30.00	\$4,380.00	\$40.00	' '
18		Trench Drain Complete	100	FT	\$38.00	\$3,800.00	\$225.00	\$22,500.00
19		Curb, Straight 18 Inch Complete	40	FT	\$70.00	\$2,800.00	\$50.00	\$2,000.00
20	SPEC	Sediment and Erosion Control	1	LS	\$100.00	\$100.00	\$1,000.00	\$1,000.00

				Engineer's Estimate	The Righter Co., Inc.
		Subtotal		\$22,720.00	\$56,730.00
21	SPEC	Contingency (15%)		\$3,408.00	\$8,509.50
		TSS 940 TOTAL:		\$26,128.00	\$65,239.50
		GRAND TOTAL:		\$305,578.00	\$341,239.50
		% DIFFERENCE FROM E	% DIFFERENCE FROM ENG'S EST.:		11.67%
		% DIFFERENCE w/LOWEST	% DIFFERENCE w/LOWEST BIDDER:		N/A
		Contract Comp	Contract Compliance No.:		31-0889208 (12/17/21, MAJ, 4433)

Tapper's License expires 7/31/20.

The Righter Co., Inc.
2424 Harrison Road
Columbus, Ohio 43204
Michael D. Killilea, II, President
(614) 272-9700
mike@rightercompany.com

ORD #1508-2020, Division of Water Rinehart Public Utilities Complex Water Service Improvements & 910 Dublin Rd. Curb Repair 690026-100020, C-2292, TSS 940

Bid Tabulation, Opened 6/17/20

(not local)

					Engineer's	s Estimate	John Eran	no & Sons
Item								
#	Ref. #	Description	Qty.	Units	Unit Price	Extension	Unit Price	Extension
		C-2292 Water Service Imp's						
1	SPEC	Demolition	1	LS	\$13,000.00	\$13,000.00	\$48,000.00	\$48,000.00
2	SPEC	Fabricated Structure and Appurtenances	1	LS	\$145,000.00	\$145,000.00	\$115,000.00	\$115,000.00
3	SPEC	Sitework	1	LS	\$50,000.00	\$50,000.00	\$130,000.00	\$130,000.00
4	207	Temporary Sediment & Erosion Control	1	LS	\$3,000.00	\$3,000.00	\$2,000.00	\$2,000.00
5	623	Construction Layout Staking	1	LS	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00
6	SPEC	Allowance - Electric Service Fees	1	LS	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00
		Subtotal				\$243,000.00		\$328,000.00
		Contingency (15%)				\$36,450.00		\$49,200.00
		C-2292 TOTAL:				\$279,450.00		\$377,200.00
		TSS 940 Curb Sep./Repair						
7	254	Pavement Planing, Asphalt Concrete	83	SY	\$5.00	\$415.00	\$55.00	\$4,565.00
8	407	Tack Coat	12	GAL	\$5.00	\$60.00	\$12.00	\$144.00
		Asphalt Concrete Surface Course, Type 1,						
9	441	(448), PG64-22	10	CY	\$195.00	\$1,950.00	\$750.00	\$7,500.00
10	603	6" Conduit, Type F	30	FT	\$3.00	\$90.00	\$25.00	\$750.00
11	604	Inlet Adjusted to Grade	1	EA	\$750.00	\$750.00	\$600.00	\$600.00
12	605	4 Inch Pipe Underdrain	121	FT	\$10.00	\$1,210.00	\$13.00	\$1,573.00
13	608	Concrete Walk 4"	329	SF	\$15.00	\$4,935.00	\$17.00	\$5,593.00
14	614	Maintenance of Traffic	1	LS	\$1,000.00	\$1,000.00	\$6,000.00	\$6,000.00
15	659	Seeding and Mulching	45	SY	\$9.00	\$405.00	\$12.00	\$540.00
16	SPEC	Permanent Pavement	3	CY	\$275.00	\$825.00	\$800.00	\$2,400.00
17	SPEC	French Drain Complete	146	FT	\$30.00	\$4,380.00	\$40.00	\$5,840.00
18	SPEC	Trench Drain Complete	100	FT	\$38.00	\$3,800.00	\$250.00	\$25,000.00
19		Curb, Straight 18 Inch Complete	40	FT	\$70.00	\$2,800.00	\$80.00	\$3,200.00
20	SPEC	Sediment and Erosion Control	1	LS	\$100.00	\$100.00	\$2,000.00	\$2,000.00

				Engineer's Estimate	John Eramo & Sons
		Subtotal		\$22,720.00	\$65,705.00
21	SPEC	Contingency (15%)		\$3,408.00	\$9,855.75
		TSS 940 TOTAL:		\$26,128.0	\$75,560.75
		GRAND TOTAL:		\$305,578.00	\$452,760.75
		% DIFFERENCE FROM EI	% DIFFERENCE FROM ENG'S EST.:		48.17%
		% DIFFERENCE w/LOWEST	% DIFFERENCE w/LOWEST BIDDER:		32.68%
		Contract Comp	Contract Compliance No.:		31-0724866 (10/15/21, MAJ, 4251)

John Eramo & Sons, Inc. 3670 Lacon Road Hilliard, Ohio 43026 Christopher D. Eramo, VP/CFO (614) 777-0020 chris@eramo.com